[ |

1R12-721 20920737 L
M20x1.5 M12x1.75 ~M12x1.75
M12x1.5 (
max. $ 355 x
|I _1__“
3 3
E H22g @260

‘ bolt or stud

combination stud ® airinlet

b

7,2 kg

—

M12x1.5: max. 20 Nm

M12x1.75: max. 45 Nm

M20x1.5: max. 70 Nm

OE Manufacturer/Part No.

Manufacturer Original Part No. Model
SAMRO H2500324

SMB 1525199

SMB MO001774

Cardi 58051210

Fruehauf UJB 0358-001

VIBERTI 128147123

TROUILLET HT 18002




SMB UJB 0358

SMB UJy 0099

© 2024 PRIME-RIDE®, ALL RIGHTS RESERVED. https://prime-ride.com/



